
品　番

使用書体名

1

2

3

4

S39

寸切りﾎﾞﾙﾄ(M6×80)

六角ﾅｯﾄ(M6)

六角ﾚﾝﾁ

本体(ﾈｰﾑ部･装飾部)

No. 同梱部品 数量 単位
4

2

1

各1

本

個

本

ｾｯﾄ

１/2NA1-S63S□□
スケール（A4）

(E-40) Textile R

RC

六角ナット(M6)

寸切ﾎﾞﾙﾄ(M6×80)

固定軸(D10-L25)

ﾎｰﾛｰｾｯﾄ(M4×5)

≒29.5

≒34

≒180
(装飾部)

≒
2
0
7

(装
飾

部
)

≒300
(ネーム部)

≒355

※叩き有り

≒
7
4

(ネ
ー

ム
部

)

(ネーム取付位置)

(装
飾

部
取

付
位

置
)


